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1. Multiple choice questions (MCQ)        (1x5=5 marks) 

       (I) 5000+300+20+7= 

(a)  5327          (b) 5300     (c) 5237 

(II) The smallest odd number is___. 

(a)  0                (b) 1           (c)  9 

(III) Predecessor of 100 is_____. 

(a)   99       (b)  101        (c) 1000 

(IV) 9999÷9 

(a)   0         (b)  1111      (c) 1000 

(V) Which of the following is the unit fraction?  

(a) 5/6        (b) 8/3          (c) 1/4      

 

2. Fill in the blanks:                                   (1x5=5 marks 

(I) ____ is a part of whole.  

(II) The product of any number with zero is always___. 

(III) __ x 6 = 6 x 10. 

(IV) 54 ÷ 9 = ____. 

(V) The greatest 4 digit number is ____. 

 

3. Write true or false:                               (1x5=5 marks) 

(I) We cannot divide any number by 1.  (    ) 

(II) The face value of a digit is the value of the digit itself.  (   ) 

(III) Fraction whose value is greater than one whole called proper fraction. (    )  

(IV) The answer found by dividing one number by another number called Quotient.  (    ) 

(V) All numbers from 1,2,3,4,5….. are called natural numbers. (   )  

 

4. Solve the following:                             ( 2 x 6 = 12 marks) 

(I) Add:-4990 and 1010. 

(II)  Find the product of:- 2 x 3 x 4 

(III) Write the place value of underlined digit:-  5932. 

(IV) Arrange in ascending order:- 6/5, 2/5, 3/5, 7/5, 1/5 

(V) Write in expanded form:- 5327 

(VI) Write the greatest and smallest 4 digit numbers using given digits :-  2,5,1,9. 

5. Solve the following:                            ( 3 x 5 = 15 marks) 

(I) Add  2110,1324 and 2445 

(II) Multiply :- 35 by 12 

(III) Write 3 successors  of :- 3410,___, ___, ___. 

(IV) Change improper fraction into mixed fraction:-  14/3. 

(V) Divide :- 8264 by 2 



 

    

 

(VI) Add:-  1/3, 7/3 and 4/3. 

       

     6.   Solve :-                                     ( 4 x 2=  8 ) 

(I) In a library, there are 420 Hindi books,180 Science books and 730 English books. How many books are 

there in the library?  

(II) Write the dividend, quotient, divisor and remainder of :-   4488 ÷ 8 

 

 

  

 

 

 

                                                                                       

   

 

 


